IB Math HL1: Equation(s) of the tangent line notes: 75%1”
Finding the equation of a TANGENT line to the graph of f(x) at given point x=c.
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Finding the equation of A NORMAL line to the graph of f() at given point x=c.
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Find the equation(s) of the tangent line at given point.
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3. Find the equation(s) of the normal line to the graph of f(x) = \/S_x at x=5.
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Practice: Derivatives using chain rule and equation(s) of the tangent line:

Find the x-coordinate of each point where the graph of the given function has a horizontal tangent line.
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